IE4A=H# = BRI

RMEE

TECHNICAL DATA OF IE4 SERIES

Franme D Full load sreed Frequency | Locked- | Directon | Locked- B Mean sound
rsfaregca Rated power rated soltage in re\nlg.nirms Rated torque | atconstant| Rotor ) line pull out Rotor : Efficiency factar pressure level Weight
and size per minute _ power | torque ratio | torque ratio | current ratio @1m on no load
Frequenc
NO. Type gt s Spoed Rt e qv LRT/RLT | BDT/RLT | LRA/RLA g Wt
kw HP 380V [400V [ 415V rimin N.m Hz LwdB(A) kg
2 IE4-683M1-2 018 [025| 048 | 046 | 044 2740 063 50 23 23 55 81 47
3 IE4-63M2-2 0.25 034| 063 0.60 0.58 2740 0.87 50 23 23 55 61 49
4 IE4-71M1-2 037 05| 089 | 084 | 081 2780 127 50 22 23 6.1 62 71
5 IE4-71M2-2 055 |ows| = | 52 | 4 2795 188 50 23 23 6.1 62 74
6 IE4-80M1-2 075 1 16: | 48 | 95 2890 248 50 22 23 85 62 24110
7 IE4-80M2-2 14 £5 | 024 T2z | 22 2880 363 50 22 23 85 62 25111
3 |E4-905-2 15 20| Zer | 28 2890 496 50 22 23 9.0 67 2717
9 |IE4-90L-2 23 3 | 44 | 42 | 40 2895 7.26 50 22 23 9.0 67 32.5/21
10 | IE4-100L-2 3 4 || 59 || 58 | 54 2895 9.90 50 22 23 9.5 74 41/27
1| IE4-112m2 4 55| 77 | 73 | 70 2915 13.10 50 22 23 95 77 64/35
12 IE4-13281-2 55 75 104 99 96 2940 17.87 50 20 23 95 79 75147
13 | IE4-13282-2 75 10 | 140 | 133 | 128 2940 24.36 50 20 23 9.5 79 81/53
14 | IE4-160M1-2 1 15 | 203 | 193 | 188 2950 3561 50 20 23 95 81 129
15 | IE4-160M2-2 15 20 | 274 | 261 | 254 2950 48.56 50 20 23 95 81 140
16 | IE4-160L-2 185 25 | 337 | 320 | 309 2950 59.89 50 20 23 9.5 81 165
17 | IE4-180M-2 22 30 | 400 | 380 | 368 2960 70.98 50 20 23 95 83 208
18 | [E4-200L1-2 30 40 | 542 | 515 | 4986 2970 96.46 50 2.0 23 9.0 84 265
19 | IE4-200L2-2 37 50 | 666 | 63.3 | 610 2970 118.97 50 2.0 23 9.0 84 283
20 | IE4-225M-2 45 60 | 809 | 76.8 | 740 2970 144.70 50 20 23 9.0 86 366
21 | IE4-250M-2 55 75 | 985 | 936 | 902 2980 176.26 50 20 23 9.0 89 404
22 | IE4-280S-2 75 100 | 134 | 127 | 123 2980 24035 50 18 23 85 91 548
23 | IE4-280M-2 90 125 | 160 | 152 | 147 2980 288 42 50 18 23 85 91 595
24 IE4-3155-2 110 150 196 186 179 2980 35252 50 18 23 85 92 875
25 | IE4-315M-2 132 180 | 234 | 223 | 214 2980 42302 50 18 23 85 92 965
26 | IE4-315L1-2 160 220 | 284 | 269 | 260 2980 512.75 50 18 22 85 92 1040
27 | [E4-315L2:2 200 270 | 354 | 336 | 324 2980 64094 50 18 22 85 92 1132
28 | IE4-355M-2 250 340 | 433 | 411 | 39 2980 801.17 50 16 22 85 100 1675
29 | IE4-355L-2 315 430 | 545 | 518 | 499 2980 100948 50 16 22 85 100 1870
30 | IE4-63M1-4 012 |0.16| 036 | 0.34 | 033 1330 0.86 50 22 2.1 44
31 | IE4-63M2-4 018 [025| 050 | 048 | 046 1330 129 50 22 21 44
32 | IE4-71M1-4 025 |034| 066 | 063 | 06D 1360 1.76 50 22 2.1 52
33 | IE4-T1IM2-4 0.37 05| 094 | 089 | 086 1360 2580 50 22 21 52
34 | IE4-BOMI-4 0.55 1420 370 50 23 24 52
IE4-80M2-4 5.01 ; ; 85
%6 | IE4-90S4 : 23 B EsE
| -90L4 | 23 90
23 9.0
23 | 23 95
IE4-1325-4 ! 3573 50 2.0 23 95
42 | IE4-132M-4 75 1470 4872 50 2.0 23 95
43 | IE4-160M-4 11 1470 71.46 50 22 23 95
44 | IE4-160L-4 15 1470 97.45 50 20 23 95
45 | IE4-180M-4 185 1475 119.78 50 22 23 95
46 | IE4-180L-4 22 1475 142.44 50 20 23 9.5
47 | IE4-200L-4 30 1480 193,58 50 2.0 23 9.0
48 | IE4-22554 37 1485 23795 50 20 23 9.0
49 | IE4-225M4 45 1485 289.39 50 20 23 9.0
50 | IE4-250M-4 55 1485 353.70 50 20 23 9.0
51 | IE4-2805-4 75 100 | 136 | 130 | 125 1485 48232 50 20 23 8.5
52 | IE4-280M-4 90 125 | 162 | 154 | 148 1485 578.79 50 20 23 85
53 | IE4-3155-4 110 150 | 195 | 185 | 179 1485 707.41 50 18 2.2 85
54 | IE4-315M-4 132 180 | 234 | 222 | 214 1485 848.89 50 18 22 85
55 |IE4-315L1-4 160 220 | 280 | 266 | 256 1485 1028.96 50 18 22 85
56 | IE4-315L2-4 200 270 | 349 | 332 | 320 1485 1286.20 50 18 22 85
57 | IE4-355M-4 220 295 | 384 | 365 | 352 1485 1414.81 50 18 22 85
58 | IE4-355M-4 250 340 | 436 | 415 | 400 1490 1602.35 50 18 22 8.5
59 | IE4-355L-4 315 430 | 550 | 522 | 504 1490 2018.96 50 18 22 85
60 | IE4-355L2-4 355 480 | 620 | 589 | 567 1490 2275.34 50 18 22 85
61 | IE4-T1M1-6 018 |025| 059 | 056 | 0.54 880 195 50 20 19 40 52 6.3
62 | IE4-T1M2-6 025 |[034]| 075 | 072 | 069 880 271 50 20 19 40 52 6.3
63 | IE4-BOM1-6 037 05| 10 | 10 | 094 890 397 50 2.0 19 47 54 225125
64 | IE4-80M2-6 055 [075] 15 | 14 | 14 890 5.90 50 2.1 19 47 54 23.5/135
65 IE4-908-6 0.75 1 20 | 19 | 18 955 7.50 50 21 2.1 75 57 26517
66 IE4-90L-6 141 4isdl| 2B (D27 2B 955 11.00 50 21 21 75 57 321215
67 | IE4-100L-6 15 2| IFaz=|isst | 34 955 15.00 50 241 241 75 61 41/28
68 | IE4-112M-6 22 3 | 54 | 514 | 49 970 2166 50 24 21 75 65 51/34
69 | IE4-1325-6 3 4 | 72 | 89 | 66 970 2954 50 20 241 75 69 67/47
70 | IE4-132M1-6 55| 94 | 90 | 86 970 39.38 50 20 21 8.0 69 76/59
71 | [E4-132M2-6 55 75 | 128 | 122 | 117 a70 54.15 50 20 21 80 69 84/65
72 | IE4-160M-6 75 10 | 174 | 162 | 157 280 73.00 50 20 21 8.0 73 128
73 |IE4-160L-6 11 15 235 223 215 880 107.19 50 20 21 85 73 168
74 | IE4-180L-6 15 20 | 307 | 294 | 281 280 146.17 50 2.0 2.1 85 73 220
75 | IE4-200L1-8 185 25 | 376 | 357 | 344 985 179.37 50 20 2.4 85 73 268
76 | IE4-200L2-6 22 30 | 440 | 418 | 403 985 213.30 50 2.0 24 85 73 290
77 | IE4-225M-6 30 40 | 59.0 | 56.1 | 54.0 085 290.86 50 20 24 83 74 403
78 | IE4-250M-6 37 50 | 71.7 | 681 | 656 990 356.92 50 20 24 83 76 426
79 | IE4-2805-6 45 60 | 869 | 826 | 796 990 434,09 50 20 20 85 78 533
80 | IE4-280M-6 55 75 | 105 | 994 | 958 990 530.56 50 20 20 8.5 78 596
81 | IE4-315S5-6 75 100 | 142 | 135 | 130 990 723.48 50 16 20 8.0 83 803
82 | IE4-315M-6 90 125 | 168 | 160 | 154 990 868.18 50 16 20 8.0 83 912
83 | IE4-315L1-6 110 150 | 205 | 195 | 188 990 1061.11 50 16 20 8.0 83 1020
84 | IE4-315L2-8 132 180 | 243 | 231 | 222 990 127333 50 16 20 8.0 83 1115
85 | IE4-355M1-6 160 220 | 294 | 279 | 289 990 154343 50 16 20 8.0 85 1505
86 | IE4-355M2-6 200 270 | 367 | 349 | 336 990 1929.29 50 16 20 8.0 85 1645
87 | IE4-355L1-6 250 340 | 458 | 435 | 419 990 241162 50 16 20 8.0 85 1825
88 | IE4-80M1-8 018 |025| 067 | 063 | 061 660 2.60 50 19 18 33 52 17115
89 | IE4-80M2-8 025 |(034| 088 | 084 | 081 660 362 50 19 18 33 52 18125
90 | IE4-908-8 0.37 ] [ 2 685 5.16 50 19 18 4.0 56 23115
91 IE4-90L-8 055 |[075]| 18 | 17 | 186 690 7.61 50 20 18 4.0 56 265175
92 | IE4-100L1-8 0.75 1 g2 | 21 | 20 700 10.23 50 20 20 7.0 59 33/26
93 | IE4-100L2-8 141 15| 314 | 29 | 28 700 15.01 50 20 20 7.0 59 35/28
94 | IE4-112M8 15 2 | 40 | 38 | 37 710 20.18 50 20 20 7.0 61 46.5/31.5
95 | IE4-1325-8 22 3| 87| 54 | 52 720 29.18 50 18 20 7.5 64 69/45
96 | IE4-132M-8 3 4 | 78 | 72 | 89 720 39.79 50 18 20 78 64 84/52.5
97 | IE4-160M1-8 4 55| 98 | 93 | 90 730 52.33 50 18 2.0 7.9 68 108/85
98 | IE4-160M2-8 55 v I P P 730 7195 50 18 20 8.1 68 121/100
99 | IE4-160L-8 75 10 | 172 | 164 | 158 730 98.12 50 18 2.0 7.8 68 145/120
100 | IE4-180L-8 11 15 | 250 | 237 | 229 735 142.93 50 18 2.0 7.9 70 191
101 | IE4-200L-8 15 20 | 333 | 31.7 | 305 735 194.90 50 18 20 8.0 73 268
102 | IE4-2255-8 185 25 | 409 | 388 | 374 735 240.37 50 18 2.0 8.1 73 309
103 | IE4-225M-8 22 30 | 478 | 454 | 437 735 285.85 50 18 20 83 73 328
104 | IE4-250M-8 30 40 | 639 | 607 | 585 735 389 80 50 18 20 79 75 415
105 | IE4-280S-8 37 50 | 774 | 735 | 709 740 477.50 50 18 20 79 76 547
106 | IE4-280M-8 45 60 | 939 | 892 | 859 740 580.74 50 18 20 7.9 76 630
107 | IE4-3155-8 55 75 | 111 | 106 | 102 740 709.80 50 16 20 82 82 948
108 | IE4-315M8 75 100 | 151 | 144 | 138 740 967.91 50 16 20 786 82 1040
109 | IE4-315L1-8 90 125 | 179 | 170 | 1864 740 1161.49 50 16 20 77 82 1145
110 | IE4-315L2-8 110 150 | 218 | 207 | 200 740 1419.59 50 16 20 7.7 82 1247
111 IE4-355M1-8 132 180 | 261 248 233 740 1703.51 30 16 20 o 90 1658
112 | IE4-355M2-8 160 220 | 312 | 296 | 285 740 2064 86 50 16 2.0 bérg 90 1745
113 | IE4-355L-8 200 270 | 388 | 369 | 356 740 2581.08 50 16 20 7.8 90 1927
BERY

AC

AB

FRAME WITH FEET AND END-SHIELD WITH FLANGE(IM B35)

80M 246 125
90S 246 140
90L 246 140
100L 246 160
112M 246 190
132S 246 216
132M 246 216
160M 246 254
160L 246 254
180M 246 279
180L 246 279
200L 246 318
225S 4 356
225M 2 356

46 356
250M 2 406

4 6 406
280S 2 457

46 457
280M 2 457

46 457
3156S 2 508

46 508
3156M 2 508

46 508
315L 2 508

4 6 508
355M 2 610

46 610
355L 2 610

46 610

62.5
70
70
80
S5
108
108
127
127

139.5

139:5
159
178
178
178

203

203

2285
2285
2285
2285

254

254

254

254

254

254

305

305

305

305

100
100
125
140
140
140
178
210
254
241
279
305
286
311
311
349
349
368
368
419
419
406
406
457
457
508
508
560
560
630
630

50
56
56
63
70
89
89
108
108
121
121
133
149
149
149
168
168
190
190
190
190
216
216
216
216
216
216
254
254
254
254

19
24
24
28
28
38
38
42
42
48
48
55
60
55
60
60
65
65
75
65
75
65
80
65
80
65
80
75
95
75
95

60 15.56
50 8 20
50 8 20
60 8 24
60 8 24
10 33
10RE33
12 37
12| 87
14 42.5
14 42.5
16 49
18 b3
16 49
18 b3
18 53
18 58
18 b8
20 67.5
18 b8
20 67.5
18 58
22 71
18 58
22 71
18 58
22 71
20 67.5
25 86
20 67.5
25 86

80
110
110
110
110
110
140
110
140
140
140
140
140
140
140
140
170
140
170
140
170
140
170
140
170

80

90

90
100
112
132
132
160
160
180
180
200
225
225
225
250
250
280
280
280
280
315
315
3156
315
315
315
355
858
355
3b5

10
10
10
12
12
12
12
15
15
15
15
19
18
19
18
24
24
24
24
24
24
28
28
28
28
28
28
28
28
28
28

165
165
165
215
215
265
265
300
300
300
300
350
400
400
400
500
500
500
500
500
500
600
600
600
600
600
600
740
740
740
740

130
130
130
180
180
230
230
250
250
250
250
300
350
350
350
450
450
450
450
450
450
550
550
550
550
550
550
680
680
680
680

200 12
200 12
200 12
250 15
250 15
300 15
300 15
350 19
JB0)| 19
350 19
3019
400 19
450 19
450 19
450 19
550 19
B0 19
550 19
550 19
5560 19
550 19
660 24
660 24
660 24
660 24
660 24
660 24
800 24
800 24
800 24
800 24

©
o1

3.5

w
o1

D OO OO OO OO OO OO OO O o1 o101 01 ool ool ool ool ok BB B
00 00 00O 00 00 0O O 0O 00 CO O 0O 0O 0 W 0O 0 0 W &> A A A B B BB P B B D

165
180
180
205
226
262
262
320
320
3565
355
395
435
435
435
490
490
550
550
550
550
635
635
635
635
635
635
730
730
730
730

M6X16

M8X19

M8X19
M10X22
M10X22
M12X28
M12X28
M16X36
M16X36
M16X36
M16X36
M20X42
M20X42
M20X42
M20X42
M20X42
M20X42
M20X42
M20X42
M20X42
M20X42
M20X42
M20X42
M20X42
M20X42
M20X42
M20X42
M20X42
M20X42
M20X42
M20X42

158
177
177
198
235
293
293
315
315
355
355
397
445
445
445
485
485
547
547
547
547
620
620
620
620
620
620
698
698
698
698

140
160
160
172
183
225
225
255
255
280
280
3056
88D
33b
335
370
370
410
410
410
410
530
530
530
530
530
530
655
655
655
655

220
255
255
270
300
349
349
420
420
455
455
505
560
560
560
615
615
680
680
680
680
845
845
845
845
845
845
1010
1010
1010
1010

300
350
385
400
425
502
533
660
730
740
810
852
874
890
918
985
985
1045
1045
1095
1095
1185
1220
1290
1325
1290
1325
1500
1530
1500
1530

EREEIE

EER T ERIR

AL

HLIE G

B A 8 R

B ALRT

1

H80

2.6

2XM20 X 1.

H90-100

6.8

2XM25 X 1.

4112152

15.4

2XM35 X1.

H160-180

42. 5

2XM40 X 1.

H200-225

384. 2

2XM50 X 1.

H250-280

166. 6

2XM63 X1.

H315

358

2XM63 X1.

SO | =3 | |1 | = | W | DD

H355

546

[ I 5 5 [N I N I 53 O 5 1 () [ 5 ) B R 3

2XM63 X 1.

ax

S AN

Sl 75 A%

ST RF

ol AFp

Il e

80

2-4

6204-2RZ

6204-2RZ

90

2-6

62050-2RZ

6200-2RZ

100

2-6

6206-2RZ

6206-2RZ

112

2-6

6306-2RZ

6306-2RZ

132

2-6

6308-2RZ

6308-2RZ

160

2-6

6309-2RZC3

6309-2R1IC3

180

28

6311C3

6311C3

200

2-6

6312C3

6312C3

225

28

6313C3

6313C3

250

2-6

6314C3

6314C3

280

6314C3

6314C3

4-6

6317C3

6317C3

315

6317C3

6317C3

4-6

NU319C3

6319C3

399

6319C3

6319C3

4-6

NU322C3

NU322C3




